GOCPN

Definition: A GOCPN is a 10-tupl& = {P, T, A, AW, PO, PD, PS, POp, TF}SL

« P={pypy...nn is afinite set of places witm= 0

T={ty, ..., t;} is a finite set of transitions with=0 aRin T = ®

A={PxT} O{PxT} is amapping representing arcs between places and transitions.

« AWM A - B,B={0, 1} is a weight function of arcs; It is used to determine the token flow and firing condition of the
net.

PO:P - {Cx Q} is a mapping of places to the content set C and QoP (Quality of Presentation) set Q.
« PD: P - D represents playout duration of the media object @itts the integer set.

« PS P - Srepresents the spatial information of the media object.

POp P - Op defines media operationSL: { P x P} - | represents lip-sync link between two placeis. an integer
set that represents maximum skew allowed between two media objects measured by discrete time units.

TFT - { AType ETypedifferentiates transition types by its firing rules. Rdypetransition, its firing mode is auto-
matic(A). ForEtypetransition, its firing mode is event-driven(E).

SL{P x P} - | represents lip-sync link between two places. | is an integer set representing maximum skew allowed
between two media objects measured by discrete time.
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[Some Access Control Operations

Always
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always allow access to Obj

Allow access to one of Obj1 or Obj2

Obj1 XOR obj2
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® Start and End
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Registration object
Material displayed just befor¢e
questions

Question set - one or more
questions

Object that processes score

Answer set
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Allow access to Obj N times

Obj2 after objl
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AND - Join

S can be accessed through 4
regular path or automatically
t units after R is allowed
acccessed(XOR operation,
relative time constraint and
strong causal)

When S has a token M and Q
are denied access. Completiol
of S produces the Score for thg
test

When the test document reaches
the end (after S), the answers
document can be viewed. Oncé
the test is taken answer can bg
viewed any time in future.
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Example of Incremental composition

Composition of document O3. ai, bi, ci are basic multilevel objects

System with multiple domains
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Transformation
(Create table entries for O3, Y
. include clearance for new users),







